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F1 TEARAE

B4 {31 : ppm
A1—1 Al1—2 A1—4 A1—5 Al1—17 A1—38 A1-—3 A1-6 |EETRIE
migfkix®H <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <01 <01 0.1
1,2-"yAAT4Y <01 <01 <01 <01 <01 <01 - - 0.1
1,1-Y"9AAIFLy - - - - - - - - -
YA-1,2-Y"yOaIFLy - - - <01 <01 <01 - - 0.1
1,3-4°9007°0A°Y - - - - - - - - -
Y IN0AaY <0.1 <01 <01 <01 <01 <01 - - 0.1
Fh3500IFLY - - - <01 <01 <01 - - 0.1
1,1,1-M)H0n14Y <0.1 <0.1 <01 <01 <01 <01 - - 0.1
1.1.2—h)yAAT4Y <0.1 <0.1 <01 <01 <01 <01 - - 0.1
MYEATIFLY - - - <01 <01 <01 - - 0.1
Rty < 0.05 0.09 <0.05 <0.05 <0.05 <005 <005 <005 0.05
B {57 : ppm
B1-2 B1-3 B1-8 B1-9 B1-1 B1-5 C1-1 Ci1-4 C1-7 EE TR{E
migfkix®H <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <01 <01 <01 0.1
1,2-"yAAT4Y <0.1 <0.1 <0.1 <01 - <01 <01 <01 <01 0.1
1,1-Y"9AAIFLy - - - - - - - - - -
YA-1,2-Y'y0axFLy <0.1 - - <0.1 - <0.1 <01 <01 <01 0.1
1,3-¥°9007° 08"y - - - - - - - - - -
Y IN0AaY <01 <01 <01 <01 - <01 <01 <01 <01 0.1
Fh3500IFLY <01 - - <01 - <01 <01 <01 <01 0.1
1,1,1-M)H0n14Y <0.1 <0.1 <0.1 <0.1 - <0.1 <01 <01 <01 0.1
1.1.2—h)yAAT4Y <0.1 <0.1 <0.1 <0.1 - <0.1 <01 <01 <01 0.1
MYEATIFLY <01 - - <01 - <01 <01 <01 <01 0.1
Rty < 0.05 < 0.05 < 0.05 <0.05 <0.05 <0.05 <0.05 0.23 <005 0.05
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®2 TRFHEREN/2)

B mg/L
A1-—3 A1—6 B1—1 |B1—4.5.8] A1—1 A1-—2 A1—4 A1-—5 B1-3 B1-6 B1-6 cermE| mem
=RIE =RIE =RIE =RIE =RIE =RIE =RIE =RIE =RIE =B BEET
HRED L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.001 0.01
i o AL < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 0.005 0.05
Ty <01 <01 <01 <01 <01 <01 <01 0.1 T
#kER < 0.0005 | €0.0005 | <0.0005 [ <0.0005 [ <0.0005 [ <0.0005 | <0.0005 | <0.0005 | <0.0005 [ <0.0005 | <0.0005 0.0005 0.0005
TILFILIKER < 0.0005 | €0.0005 | <0.0005 [ <0.0005 [ <0.0005 [ <0.0005 | <0.0005 | <0.0005 | <0.0005 [ <0.0005 [ <0.0005 0.0005 B
u 4P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.001 0.01
&n < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 0.004 0.01
it 0.002 0.003 0.003 0.003 0.003 0.002 0.002 0.001 0.01
ASoF 0.56 0.18 0.15 0.33 0.53 0.64 0.28 0.32 0.75 0.48 0.35 0.08 0.8
IE5% <01 <0.1 <01 <01 <01 <01 <01 <01 <01 <01 <01 0.1 1
PCB < 0.0005 | €0.0005 | <0.0005 [ <0.0005 [ <0.0005 | <0.0005 | <0.0005 0.0005 0.0005
BA{if :mg/L
A1-4-2 | A1-4-2 A1-7 A1-7 :06\1 -7 A1-8 A1-8 B1-2 B1-2 B1-9 B1-9 wevme| em
=RIE BEET =RIE BEET | EvhT =RIE BEET =RIE BEET =RIE BEET

HRED L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.001 0.01
i o AL < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 0.005 0.05
Ty <01 <0.1 <01 <01 <01 <01 <01 <01 <01 <01 <01 0.1 THEH
#kER < 0.0005 | €0.0005 | <0.0005 [ <0.0005 [ <0.0005 [ <0.0005 | <0.0005 | <0.0005 | <0.0005 [ <0.0005 | <0.0005 0.0005 0.0005
TILFILIKER < 0.0005 | €0.0005 | <0.0005 [ <0.0005 [ <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 [ <0.0005 | <0.0005 0.0005 TR
u 4P < 0.001 < 0.001 0.001 0.001 < 0.001 0.001 < 0.001 0.001 0.001 < 0.001 0.001 0.001 0.01
& < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 0.004 0.004 0.01
fitx 0.003 0.001 0.005 0.004 0.003 0.002 0.002 0.004 0.003 0.004 0.002 0.001 0.01
SoF 0.57 0.35 0.22 <0.08 0.12 0.69 0.5 0.23 0.19 0.43 <0.08 0.08 0.8
IE5% <01 <0.1 <01 <01 <01 <01 <01 <01 <01 <01 <01 0.1 1
PCB < 0.0005 | €0.0005 | <0.0005 [ <0.0005 [ <0.0005 [ <0.0005 | <0.0005 | <0.0005 | <0.0005 [ <0.0005 | <0.0005 0.0005 0.0005




®2 TRBFHEREQ2/2)

B4 mg/L

C1-1 C1-1 Cl1-4 Cl1-4 C1-7 C1-7 ARS BEa |eerme| zem

=R[E BEET =R[E BEET =R[E BEET
HRED L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.001 0.01
i o AL < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 0.005 0.05
Ty <01 <01 <01 <01 <01 <01 <01 <01 0.1 T
#kER < 0.0005 | €0.0005 | <0.0005 | <0.0005 [ <0.0005 | <0.0005 0.0005 0.0005
TILFILIKER < 0.0005 | €0.0005 | <0.0005 | <0.0005 [ <0.0005 | <0.0005 0.0005 TR
u 4P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.001 0.01
£ < 0.004 < 0.004 < 0.004 0.008 < 0.004 < 0.004 0.004 0.01
fiit= 0.002 0.003 0.004 0.006 0.005 0.002 0.004 0.005 0.001 0.01
SoF 0.17 <0.08 0.68 0.19 0.46 0.2 0.08 0.8
Z5% <01 <01 <01 <01 <01 <01 0.1 1
PCB < 0.0005 | €0.0005 | <0.0005 | <0.0005 [ <0.0005 | <0.0005 | £0.0005 | <0.0005 0.0005 0.0005




®3 TEEHEREN/2)

B mg/kg

A1-—3 A1—6 B1—1 |B1—4.5.8] Al1—1 A1-—2 A1—4 A1-—5 B1-3 B1-6 B1-6 .
EETRIE| HEHE
=RIE =RIE =RIE =RIE =RIE =RIE =RIE =RIE =RIE =B BEET
HRED L <15 <15 <15 <15 <15 <15 <15 <15 <15 <15 <15 15 150
i o AL <25 <25 <25 <25 <25 <25 <25 <25 <25 <25 <25 25 250
TV <5 <5 <5 <5 <5 <5 <5 5 50
kR <15 <15 <15 <15 <15 <15 <15 <15 <15 <15 <15 1.5 15
u 4P <15 <15 <15 <15 <15 <15 <15 15 150
&0 <15 <15 <15 17 17 15 62 28 <15 <15 <15 15 150
it <15 <15 <15 <15 <15 <15 <15 15 150
SoF < 400 < 400 < 400 <400 <400 <400 <400 <400 <400 <400 <400 400 4000
IE5% < 400 <400 <400 <400 <400 <400 <400 <400 <400 <400 <400 400 4000
BA{SI :mg/kg
A1-4-2 | A1-4-2 A1-7 A1-7 A1-7 A1-8 A1-8 B1-2 B1-2 B1-9 B1-9 cermEl mem
=RIE BEET =RIE BEET | EvhT =RIE BEET =RIE BEET =RIE BEET
HRED L <15 <15 <15 <15 <15 <15 <15 <15 <15 <15 <15 15 150
i o AL <25 <25 <25 <25 <25 <25 <25 <25 <25 <25 <25 25 250
Ty <5 <5 <5 <5 <5 <5 <5 <5 <5 <5 <5 5 50
#kER <15 <15 <15 <15 <15 <15 <15 <15 <15 <15 <15 1.5 15
u 4P <15 <15 <15 <15 <15 <15 <15 <15 <15 <15 <15 15 150
£ <15 <15 <15 26 17 15 19 47 64 <15 <15 15 150
fitx <15 <15 <15 <15 <15 <15 <15 <15 <15 <15 <15 15 150
SoF < 400 < 400 < 400 < 400 < 400 <400 <400 <400 <400 <400 <400 400 4000
IE5% <400 <400 <400 <400 <400 <400 <400 <400 <400 <400 <400 400 4000




=3 TIEEHE=HREQ/2)

B 4I:mg/kg

C1-1 C1-1 Cl1-4 C1-4 Cc1-7 C1-7 | AlR& | BR& -

=E BEET =B BET =E BET
HREDH L <15 <15 <15 <15 <15 <15 15 150
i o AL <25 <25 <25 <25 <25 <25 25 250
LT <5 <5 <H <H <H <H <H <5 5 50
KR <15 <15 <15 <15 <15 <15 1.5 15
L <15 <15 <15 <15 <15 <15 <15 <15 15 150
0 17 77 36 280 47 <15 15 150
itk <15 <15 <15 <15 <15 <15 <15 <15 15 150
ASox < 400 < 400 <400 <400 <400 <400 400 4000
IE5% <400 <400 <400 <400 <400 <400 400 4000

E) [ BEREEERT .



x4 R—UUTIZEBHTIEBRHERE

(Ro€Y) B :mg/L

s (g:::]) (g:__r:) A1-2 ci-4 |EETRE| Him
0.05m 255 015 | <0001 | <o0.001

0.5m 3 0.6 <0001 | <0.001

1.0m 35 1.1 <0001 | <o0.001

2.0m 45 2.1 <0001 | <0.001

3.0m 55 3.1 <0001 | <o0.001

4.0m 6.5 4.1 <0001 | <0.001

0.001 0.01

5.0m 75 5.1 <0001 | <0.001

6.0m 8.5 6.1 <0001 | <0.001

7.0m 95 7.1 <0001 | <0.001

8.0m 105 8.1 <0001 | <o0.001

9.0m 11.5 9.1 <0001 | <0.001

10.0m 125 101 | <0001 | <0.001

K5 REHAEGEMAE)

(fhEE=) BA[ :mg/kg
EE (GL-m) | C1-4 |EETRE| E*#(E
RE~05m 0.1~0.6 36
BRI & FRET0.5m
0.7~12 280
(0.7~1.2m)
EEE T0.5m 1.2 26
EEE T1.0m 1.7 <15
oo & T2.0m 2.7 <15 15 150
F2E T3.0m 3.7 <15
2 E T4.0m 47 <15
E2E T5.0m 5.7 16
0.1m 0.2 15
=WIH
B 05m 0.6 29

E) . EERBEEERT .
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